@ x*(a-b)-y*(b-a) = (a-b)(x+y)(x-y)
© 9x? +3xy—2y? = (3x—2y)(3x +y)
© x*-125 = (x-5)(x* - 5x + 25)

@ 26 —xy-y?—dx+y+2=02x-y+2)(x-y+1)

@ o7h @ 174 ® 274 @ 374 ® 474







@ (x-1)(x+2)(x*+x+3)
® (x=-2)(x+1)(x*+x+3)

® (x+1)(x-2)(x> - x+3)

@ (x-1)(x+2)(x2+x-3)

@ (x-1)(x+2)(x* —x+3)



4. (1252 - 752) = {5+ (30 - 50) + (—4)} 2] 22

O 75 @ 125 @ 900 @ 1000 ® 1225



5. X +2%4+9=(2+ax+b)(x*+cx+d) 2 JA5EMNE W, |ab - cd|
o g2 Poteler.

D
=%



6.  The 7)o Foltl 45 xet & uf, Vit 8147 Hhe v o] AT

1 2
-2, 2, 0, =35, 4, =
3 5

@ 17 @ 37 @ 574 @ 770 ® 971



7. A% kol Hate] Bag o = 3k + 2i) - k(1 - )29 gLo] &35t
H 22 ko] ZHS o2

® -2 @0 ®1 @ 2 ® 3









10. sl o diste] i+ i + 2 + it +i® + i S 7hES|oFH?

D 1+i @ -1+i ® 2i
@ 2+i ® 2



